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xx1<-numeric(10)
yyl<-numeric(10)

for (11 in 1:50000) {
xXx1<-rnorm(10,mean=9,sd=2)
yy1l<-rnorm(10,mean=7,sd=4)
rrl<-cor.test(xx1,yyl)
prifil]<-rr1$p.value

}

sum(prl1<=0.05)
sum(prl<=0.01)
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pri<-numeric(50000)
xX1<-numeric(10)
yyl<-numeric(10)
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for (ZE&ngE){} T = 193 D&kt

for (11 in 1:50000) {
xx1<-rnorm(10,mean=9,sd=2)
yyl<-rnorm(10,mean=7,sd=4)
rrl<-cor.test(xx1l,yyl)
prifil]<-rri$p.value
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xx1<-rnorm(10,mean=9,sd=2)
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for (11 in 1:50000) {
xx1<-rnorm(10,mean=9,sd=2)
yyl<-rnorm(10,mean=7,sd=4)
rrl<-cor.test(xx1l,yyl)
prifil]<-rri$p.value
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rrl<-cor.test(xx1,yyl)
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prifil]<-rri$p.value
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for (11 in 1:50000) {
xx1<-rnorm(10,mean=9,sd=2)
yyl<-rnorm(10,mean=7,sd=4)
rrl<-cor.test(xx1l,yyl)
prifil]<-rrl$p.value
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xx1<-numeric(10)
yyl<-numeric(10)

for (11 in 1:50000) {
xXx1<-rnorm(10,mean=9,sd=2)
yy1l<-rnorm(10,mean=7,sd=4)
rrl<-cor.test(xx1,yyl)
prifil]<-rr1$p.value

}

sum(prl1<=0.05)
sum(prl<=0.01)
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rrl<-cor.test(xx1l,yyl)
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rrl<-cor.test(xx1l,yyl)
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xx1<-numeric(10)
yyl<-numeric(10)

for (11 in 1:50000) {
xXx1<-rnorm(10,mean=9,sd=2)
yy1l<-rnorm(10,mean=7,sd=4)
rrl<-cor.test(xx1,yyl)
prifil]<-rr1$p.value

}

sum(prl1<=0.05)
sum(prl<=0.01)
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fpl<-rumeric(10000)
wpl<-rumeric(10000)
Ip1<-rumeric(10000)
tpl<-numeric(10000)
Irpl<-numeric(10000)
cntl<-rumeric(10000)
fentl<-rumeric(10000)
aicl<-rumeric(10000)
n1l<-100
x1<-numeric(nl)

for (iin 1:n1) {
x1[i]<-gnorm(i/(n1+1),mean=20.0,sd=4.0)

d1<-rumeric(nl)
for (iin 1:n1) {
d1[i]<-0.5

}

yl<-rumeric(nl)

for (i1 in 1:10000) {
for (iin 1:n1) {
if (d1[i]>=runif(1)) {y1[i]<-1} else {y1[i]<-0}

—

xa<-sum(head(y1,n1/2))
xc<-(nl/2-xa)
xb<-sum(tail(y1,n1/2))
xd<-(n1/2-xb)
fml<-matrix(c(xa,xlxc,xd),ncol=2)
fpl[il]<-bshetest(fm1l)$pvalue
fentl[il]<-(xa+xb+xc+xd)
yfl<-factor(yl)
wwl<-wilcax.test(x1~y1)
wpl[il]<-wwl$pvalue
IgtO<-gIm(yf1~1,fanyitbinomial)
Igtl<-gIm(yf1~x1,fanyitbinomial)
slgtl<-summayr(lgtl)
Ip1[il]<-slgtl$coef]2,4]
Irtl<-2*abs(logLik(lgt1)[1]-logLik(IgtO)[1])
Irpl[il]<-(1-pchisq(lt1,1))
tri<-t.test(x1~yfl)
tpl[il]<-tri$p.value

cntlfil]<-1
aicl[il]<-(Igt1%aic-lgtO$aic)

}

sum(fp1<=0.05)
sum(lp1<=0.05)
sum(wpl<=0.05)
sum(Irp1<=0.05)
sum(tp1<=0.05)
sum(fp1<=0.01)
sum(lp1<=0.01)
sum(wp1l<=0.01)
sum(lrp1<=0.01)
sum(tp1<=0.01)
sum(aic1<=0.0)
sum(fcnt1)/10000
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glm(DFERA 79V MHOREBRZEDHT
(B, BEESE)
attributes(Pstr) T N9

> gImMDFER Dsummay= 7 = 7 b $coefbcients

Estimate Stceror z value  Pr(>|z|)
(Intercept) 18.23579822 3.967524 4.5962662 3.140334e-05
x01 0.06201217 0.409028 0.1516086 8.801311e-01

gImMDIER DsummayA 72 = 7 ~ Dcoefbcientgrrilic&mo

DWW\ 1TA
coefficients["x01","Pr(>|z|)"]

4 glmDFER DsummayA 72 = 7 k coefbcients[8]
& % W\ & % /e Ik
gImDFER Dsummayt 7 > = 7 b $coefbcients[2,4]
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